Safety evaluable

n = 351 enrolled
(74 US sites)

population

n = 351 received Infusion 1

N

n = 10 withdrew
n=7 AE (4 with IRR)
n =1 Lost to follow-up
n =2 Subject’s decision

.

n = 341 received Infusion 2
(n = 337 at the faster rate)

Faster infusion

-~

n = 51 withdrew
n =10 AE (2 with IRR)
n=3 Lost to follow-up

1

evaluable population {

n = 290 received Infusion 3
(n = 289 at the faster rate)

> n =7 Physician’s decision
n =15 Protocol violation
\_ N*= 16 Subject’s decision

»| N =12 withdrew

n = 278 received Infusion 4
(n = 278 at the faster rate)

n=2 AE (0 IRR)
n =5 Protocol violation
n =5 Subject’s decision




